=
<

a(d cot(d))

o(0 ¢) (rad)
S

107 1

1072

-
=)
Fl
)

$
=
: .

iy
TITT[TTTI[TTIIT[TTTT
> «
+
TTTT[TTTI[ITTY

-2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=#— DQM_CKF_XiMinusPU_base

—— DQM_CKF_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch0

= = I
= 1] .- .-
5 5 i i
2 =
= =
? DN
> o
o =2
3 ©

H
S
it

1072 £ 1072 E-
[ i i A EELLELE -
.9 JULE .8 JUJ.: : ; N
& VENIE & a4l : ' o
1;—« 3 N E ;| 14 E
0.9E{{HHH . : . : “EUL TR . i . 3
0832 -1 0 1 2 3 B T R R 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ Y
E. L.
> [
o L.
5 L.
107
1072k
o J..J.:- T
= F N
g 105E- =
1;_. 1 H
0.95F- : : SRR
0_9: A N o N H .
= -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


